[ Efficiency vs vertpos |

efficiency vs vert r
o
o]
_;F_

©
o2}
T

R

...............................................

02 o S— A

Ratio

it

H "

0.950 :
107

1072

Efficiend

10 0?
TP vertr (cr%)

origmal-U

[—=— DQM_TT__mKFt-DYM_original-

—e— DOM_TT__mkFit-DQM_original-127
—— DOQM_TT_mKkFit-DQM_mod-127

—— DOM_TT__mkFit-DOM_mod_updated-127

~N 1.2

efficiency vs vert

Ratio

0.95!

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

N 1.2

efficiency vs Sim. PV
o
mf T

SN S N SO SN S

. +$+ *‘*‘*"""“"*"‘“’*ﬁﬂ

0.95,

20 =15 =10 -5

510 1520
Sim. PV z (cm)




	Contents
	Page 1


